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  Jan 13-3:43 PM     Science 9 Exam Summary      Part A-Definitions (Any 20 @ 1pt each - 20 total)      Part B-Multiple Choice (43 @ 1pt each - 43 total)      Part C-Completion (15 @ 1pt each - 15 total)   	 You will be given a word list to use for the completion questions      Part D-True/False (10 @ 1pt each - 10 total)      Part E-Open Response ( pts as indicated - 32 total)    Full Exam value - 120 points   Will be scaled to the appropriate % depending on Academic Incentive Policy      Students missing 5+ days --  Exam is 30% of Grading Mark   Students missing ≤ 5 days -- Exam is 15% of Grading Mark*   						 * ONLY if it benefits the student.
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  Jan 13-3:54 PM     Biology 11 Exam Summary      Multiple Choice - 40 points      Open Response A - 20 points   (short answer)      Open Response B - 14 points   (Interpreting Graphics)      Open Response C - 5 @ 3 each for a total of 15 points   (Essay)      Dissection Diagrams - Frog/Pig - Total of 15 points      Full Exam Value - 104 points      Students missing 5+ days --  Exam is 30% of Grading Mark   Students missing ≤ 5 days -- Exam is 15% of Grading Mark*   						 * ONLY if it benefits the student.   
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  Jan 13-4:00 PM     Students missing 5+ days --  Exam is 30% of Grading Mark   Students missing ≤ 5 days -- Exam is 15% of Grading Mark*   						 * ONLY if it benefits the student.    Chemistry 11 Exam Summary      Matching - 30 @ 1 each - 30 points      Multiple Choice - 52 @ 1 each - 52 points      Written Response - ANY 6 @ 3 each - 18 points      Full Exam Value - 100 points
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  Jan 13-4:48 PM     Our Amazing Sun          · the brightest object in our sky is the sun, our closest star   · the Sun is an example of nuclear fusion   · producing energy for 5 billion years and predicted to be around for   another 5 billion     
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Interpreting a Balanced Chemical Equation

Hydrogen sulfide, which smells like rotten eggs, is found in volcanic
gases. The balanced equation for the burning of hydrogen sulfide is:

2H,5(9) + 30,(g) —> 250,(g) + 21,0(g)

Interpret this equation in terms of
a. numbers of representative particles and moles.
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b. masses of reactants and products.
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2H,S(g) + 30,(g) —> 2S0,(g) + 2H,0(g)
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SAMPLE PROBLEM 12.7

Determining the Limiting Reagent in a Reaction
Copper reacts with sulfur to form copper(I) sulfide according to the

following balanced equation.
2Cu(s) + S(s) —> Cu,S(s)
‘What is the limiting reagent when 80.0 g Cu reacts with 25.0 g §?
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SAMPLE PROBLEM 12.8

Using a Limiting Reagent to Find the Quantity of a Product

‘What is the maximum number of grams of Cu,S that can be formed
when 80.0 g Cu reacts with 25.0 g S?

2Cu(s) + S(s) —> Cu,S(s)
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SAMPLE PROBLEM 12.9

Calculating the Theoretical Yield of a Reaction

Calcium carbonate, which is found in seashells, is decomposed by
heating The balanced equation for this reaction is:

CaCoy(s) —2 Ca0(s) + COL(g)

What is the theoretical yield of CaO if 24.8 g CaCO, is heated?









images/clipboard(10).png

SAMPLE PROBLEM 12.10

Calculating the Percent Yield of a Reaction

‘What is the percent yield if 13.1 g CaO is actually produced when 24.8 g
CaCO; is heated?

CaCoO,(s) A> CaO(s) + CO,(g)









settings.xml

 






imsmanifest.xml

   ADL SCORM CAM 1.3 metadata.xml    Group 1                                                






metadata.xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=E23E94D6-D8D5-4A03-ABC2-B81D8212C33E  ﻿  ﻿  ﻿  application/x-smarttech-notebook    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2013-01-08T10:52:17  1.0  LOMv1.0 final






preview.png









metadata.rdf

 







metadata.db





page0.svg

  Jan 8-10:52 AM     Chapter 12-Stoichiometry          · Section 12.1-The Arithmetic of Chemistry    · Section 12.2-Chemical Calculations    Text p. 353-358       Text p. 359-367       · Section 12.3-Limiting Reagent and Percent Yield    Text p. 368-375       Assessment Section   p. 379-383    Study Guide   p. 378
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  12.1     Section 12.1-The Arithmetic of Chemistry    · balanced chemical equations provide the 'recipes' for chemical reactions   · like baking recipes, it tells you how much you need and how much you get              EXAMPLE:          Questions:   1. How many complete tricycles could you make with 12 wheels?   2. How many seats would be needed?   3. How many pedals would be needed?      4. How many complete tricycles could be made if you had 17 wheels?   5. How many seats would be needed?   6. How many pedals would be needed?      7. How much of each material is needed to make 175 tricycles? Is anything left over?       ·  each tricycle needs the material pictured below minimum to complete one unit
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  Jan 8-11:06 AM     Interpreting Chemical Equations     · balanced chemical equations can be interpreted a number of ways   	> atoms, molecules, moles, mass or volume(if gases)
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  Jan 8-11:06 AM      The coefficients in a balanced chemical equation can be interpreted   as atoms, particles or moles.     EXAMPLE:   2H 2 S can mean 2 molecules of H 2 S or 2 moles of H 2 S and so on
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  Jan 8-7:39 PM       since the coefficients can be interpreted as # of moles, this   balanced chemical equation tells us that 2 mol of H 2 S and 3 mol of O 2    react to produce 2 mol of SO 2  and 2 mol of H 2 O    Mass of Reactants    1 mol of H2S = 34.1g therefore 2 mol = 68.2g   1 mol of O2 = 32g therefore 3 mol = 96g      Total Mass is 68.2g + 96g = 164.2g    Mass of Products    1 mol of SO2 = 64.1g therefore 2 mol = 128.2g   1 mol of H2O = 18g therefore 2 mol = 36g      Total mass is 128.2g + 36g = 164.2g
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  12.2     Chemical Calculations     N 2  + 3H 2          2NH 3     1 mol of N 2  reacts with 3 mol of H 2  producing 2 mol of NH 3    Determine the masses in this reaction     28g N 2   +  6g H 2       34g NH 3    Question?      What if only 0.5 mol of N2 were available?     1N 2  + 3H 2          2NH 3        0.5    1.5    1.0    Therefore, only 1.5 mol of H 2  are used and it would only   produce 1 mol of NH 3     28g N 2   +  6g H 2       34g NH 3       14g    3g    17g       1 mol H 2  = 2g   1.5 mol H 2  = 3g
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  Jan 9-8:18 PM     'Typical' stoichiometric calculations  will involve   converting the moles of reactants or products into   masses or volumes and vice versa.    These might include:      · mole-mole calculations      · mass-mass calculations      · mole-volume@STP      · mass-volume@STP      · volume@STP-moles      · volume@STP-mass    Generally speaking:      1. Balance the original equation   2. Convert masses or volumes to moles   3. 'rebalance' the equation using the   'new' mole values.   4. Convert the 'new' moles back into   masses or volumes.    ALWAYS determine before starting   	> what you are given   	> what you need to find
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  12.3     Limiting Reagent and Percent Yield     · Insufficient quantities of any reactant will limit the amount of product that forms      EXAMPLE   -consider the following reaction         	 N 2   +  3H 2             2NH 3         -the H 2  is the 'limiting'   reactant since it is   completely consumed    -in order to determine which reactant is the limiting reactant,   convert the given quantities to moles   -then the amount of product can be determined from the given amount   of limiting reactant
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  Jan 13-8:09 PM      1 mol Cu = 63.5g   x mol Cu = 80g     1.26 mol of Cu available    1 mol of S = 32.1g   x mol of S = 25g     0.779 mol of S available    From the balanced equation, the ratio of Cu:S is 2:1      This means 1.26 mol of Cu would need 0.63 mol of S   Since there is more than enough S to react with that amount of Cu,   the Cu is the limiting reactant






page10.svg

  Jan 13-8:17 PM      Solution:   Given that there is 1.26 mol of Cu available, determine the MAXIMUM   amount of Cu 2 S that could possibly be produced       The ratio of Cu:Cu 2 S is 2:1, therefore 1.26 mol of Cu will produce a    maximum of 0.63 mol of Cu 2 S    1 mol of Cu 2 S = 159.1g   0.63 mol of Cu 2 S = x g     100.23g
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  Jan 13-8:27 PM     Percent Yield     · a balanced chemical equation provides information about the "theoretical" or   ideal yield of the reaction, assuming that it works perfectly and both materials   are in sufficient quantities      · percent yield represents actual laboratory values under experimental conditions 






page12.svg

  Jan 13-8:41 PM      the ratio of CaCO 3 :CaO is 1:1, therefore, for every mole of CaCO 3    heated, 1 mole of CaO is formed      1 mol CaCO 3  = 100.1g   x mol CaCO 3  = 24.8g     0.247 mol CaCO 3    1 mol CaO = 56.1 g   0.247 mol of CaO = x g     13.9g
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  Jan 13-8:54 PM      From the previous Example, the theoretical yield of this reaction is   13.9g, but in this case, only 13.1g are produced.     % yield =      13.1 g    13.9g    x    100%    = 94.2%
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